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COM / BiL 204 Resit Exam / Butiinleme sinavi
management of a shopping mall wants to know instantaneous number of customers in the mall. The number of customers will be initialized to 0 before the
oping mall opens in the morning (assuming that there are no customers in the mall). The instantaneous number of customers should be incremented as 3

'omers pass through the entrance and decremented as they leave from the exit. / Bir AVM ydnetimi, AVM igindeki anlik musgteri sayisini bilmek istemektedir.
teri sayisi sabah AVM agilmadan 6nce (AVM iginde miisteri olmadig varsayimi ile) sifirllanacaktir. Anlik migteri sayisi, miusteriler girigten gegtikge arttirimali v

stan giktikga azaltiimahdr.
ch /O mode would you select for the task to both handle the synchronous display update (once a second) and asynchronous entry and exit events? / Hem
1andag (saniyede bir kez) gésterge giincelleme hem de zamandas olmayan giris ve gikis olaylarini iglemek icin hangi GIG modunu segerdiniz?
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w appropriate flowchart(s) to process the number of customers (N) in the mall assuming that ENTRY and EXIT asynchronous event signals are available from
ss. / Kapilardan GIRIS ve GIKI$ zamandag olmayan isaretlerin geldigi varsayimi ile musteri sayisini (N) islemek igin uygun akis-gizge(len)ini gizini
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je your flowchart(s) using assembly language of a microprocessor. / Akis-gizge(ler)ini bir mikroiglemcinin assembly dili ile kodlayiniz.
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1w the schematic diagram of the microprocessor based counter with numeric LED display at the management office. You may assume that the mall cannot
sommodate more than 10000 customers. / Y6netim odasinda sayisal LED g&stergesi olan mikroiglemci tabanli sayacin semasini giziniz. AVM'nin 10000'den fazl:

steriyi alamadigi varsayimini yapabilirsiniz.
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SPL (Sound Pressure Leveli meters are used to measure the average ambient noise in harsh environments. / SBS (Ses Basing Seviye) dlguiculeri, duyulari yipratic
duzeyde sesli ortamlardaki ortalama ortam guriitisuny lgmek igin kullaniimaktadir. :

% Draw the flowchart of the Average function to compute the average of N (N=2“) integers stored at address STRTADR. / BSLNGCADR adresinde saklanmig olan N

inin akuﬁ-c;izesini giziniz.
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b Code Average using assembly language of a microprocessor supporting SHL/SHR k (SHift) instructions. / Ortalama'yl SHL/SHR k (Shift, kaydir) emrini destekleyen
bir mikroiglemcinin assembly dilinde kodlaymniz.

MOV R®,STRTADR INC RP SHR RA, #k
mov R, #0 ywe R2
moVv R2, #P CmP R2,#N

DoN:  ADD RY, [rg] '~ Q@NE DoN

3. One of the tasks of a computer, running a multitasking operating system, is to transfer clusters of disk file (64 KB) from its SSD disk to a memory section starting
from address 3A4C. / Gok gorevli igletim sistemi galigtiran bir bilgisayarin gérevlerinden birisi de, disk dosya kumelerini (64 KB) SSD diskten 3A4C baslangic
adresinden baglayarak bellege aktarmadir.

0. Select an I/O transfer mode to minimize CPU load and transfer data as fast as possible. / Islemci yukuni en aza indirecek ve aktarimi mumkn olan en hizli sekilde
gergeklestirecek bir GIG aktarim modu seginiz.
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b List the reason(s) for your selection. / Segiminiz igin neden(ler)! listeleyiniz. .
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C List the required steps that the CPU should perform to transfer a cluster from the disk to memory. / Bir kimeyi diskten bellege aktarmak igin MiB'in yapmasi gereket
igleri listeleyiniz.
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d Give the step-by-step account of the actions taken during the input of the first two bytes. / lik iki byte'in aktarimi suresince gergeklesen eylemlerin adim-adim verini
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